MEASURE	MENT SHEET								<u> </u>
Company		MPL							<u> </u>
		May Flower Platinum							I
Work Desc	cription:	Leach Pit brick work, curb stone fixing							I
Contractor	Name:	N. Krishna							I
prepared b	y:	K. Narender Reddy							
Date:		26-08-2020							
			A	В	С	D	Е	F	G
S.No	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Total Head
	Leach Pit brick work	k, curb stone fixing					-		sft
1	PCC fo Brick work	PCC work	150.00	1.00	1.00	2	300	Rft	<u> </u>
									300
2	Brick work	Brickwork for leach pit	150.00	1.00	2.00	2	600	sft	1
			4.00	1.00	2.00	3	24	sft	1
			8.00	1.00	1.00	2	16	sft	1
		Brick for compound wall	80.00	1.00	1.00	1	80	sft	1
									720
3	PCC fo curb stone	PCC for curbtone	60.00	1.00	1.00	1	60	Rft	
									60
4	Brick work	Brick work for curb stone bottom	60.00	1.00	1.50	1	90	sft	
									90
5	Curb Stone	Curb stone fixing with PCC, Brick work	90.00	1.00	1.00	1	90	Rft	
									90
6	RCC Precast slab	RCC precast slab for manholes	3.00	3.00	1.00	3	27	Rft	
									27
									<u></u>
									 I

ESTIMATE	SHEET						
Company N	Name:	MPL					
Project:		May Flower Platinum					
Work Desc	ription:	Leach Pit brick work, curb stone fixing					
Contractor	Name:	N. Krishna					
prepared by	y:	K. Narender Reddy					
Date:		26-08-2020					
S.No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Grand Total
	Leach Pit brick work, curb						
1	Brick work	Brickwork for leach pit	720.00	sft	10.00	7200.00	
2	PCC fo B/W & curb stone	PCC fo B/W & curb stone	360.00	sft	5.00	1800.00	
3	Brick work	Brick work for curb stone bottom	60.00	sft	10.00	600.00	
4	Curb Stone	Curb stone fixing with PCC, Brick work	90.00	rft	12.00	1080.00	
5	RCC Precast slab	RCC precast slab for manholes	27.00	rft	40.00	1080.00	
							11760
		Note: 10% extra amount paid for small work					1176
		Total Amount					12936
	Amount in words Twelve	 Thousand Nine Hundred and Thirty Six Rupees only					

Bill for Consumables

N.Krishna

H.no. 8-34/5/2, Balaji Nagar,vJawarhar nagar, Malkajgiri, Medhchal

Date:26-08-2020

In favor of: MPL Project / Site: MFP

Location: 82/1. Mallapur

Type of Work: Leach Pit brick work, curb stone fixing at south side road

Towards: Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done:Leach Pit brick work,	
	curb stone fixing at south side road	Rs.2588=00
	Total amount = Rs 12936=00	
	Work done from date 05-08-2020 to 24-08-2020	

Amount in words: Two Thousand Five Hundred and Eighty Eight rupees only.

Sign	
Digii.	

Bill for Labour charges N.Krishna.

H.no. 8-34/5/2, Balaji Nagar,Jawarhar nagar, Malkajgiri, Medhchal

Date:26-08-2020

In favor of: MPL Project / Site: MFP

Location: 82/1. Mallapur

Type of Work: Leach Pit brick work, curb stone fixing at south side road

Towards: Allowance for labour charges

S No.	Description	Amount
1.	Brief description of work done:Leach Pit brick work,	
	curb stone fixing at south side road	Rs.5174=00
	Total amount = Rs 12936=00	
	Work done from date 05-08-2020 to 24-08-2020	

Amount in words: Five Thousand One Hundred and Seventy Four rupees only.

Cian.	
Sign:	 _

Bill for Equipment Allowance N.krishna.

H.no. 8-34/5/2, Balaji Nagar,vJawarhar nagar, Malkajgiri, Medhchal

Date:26-08-2020

In favor of: MPL Project / Site: MFP

Location: 82/1. Mallapur

Type of Work: Leach Pit brick work, curb stone fixing at south side road

Towards: Allowance for equipment

S No.	Description	Amount
1.	Brief description of work done:Leach Pit brick work,	
	curb stone fixing at south side road	Rs.5174=00
	Total amount = Rs 12936=00	
	Work done from date 05-08-2020 to 24-08-2020	

Amount in words: Five Thousand One Hundred and Seventy Four rupees only.

Sion		
oign.	 	

Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	333				Date - site bills Legister			26	8/2020 lover 1/2 time	
Company Name:	mppi			Site:				Lund E	lower 14 titum	
Name of Contractor			xhia							
Nature of work	Ci	rest v	unle	(m	ACC	০১ই	f)			
Work done	From Dat		5	8/202	0	То	Date	24	8 2020	
Sl. Villa/Flat/block no			Rate				Amou		Contractors bill no	
1. curb store riker 2. on South Side	urle,		•							
					Sft		100	<u> </u>	-	
3. Brick work		o sif)]-				0=20		
4. PLC for B/W		so str		: [-	sat		1,80	00 = RO		
5. Brickwase for co		o sft		01-	Sif					
6. Curb stone fray 7. RCC prost slet	(9	orft		12/-	RAT 10		10	80 = 60		
7. ACC prost slet	, 2	7 582	4015		CHI		10	80=2		
8.										
9.										
10.							12.4	2/ ~	3	
11.	Fotal:			COT	GST bill required			136=F	NO.	
Bill required										
Measurement &	Requir			Measurement & estimate sheet:				description of the second of		
estimate sheet:	□ Not re	quired			WO da		•	1 NOC	t eliciosed	
PO/WO no.								<u> </u>		
Remarks:									A STATE OF THE STA	
Approved by Project N	Approved by Project Manager			y Des	ign Te	am	Ap	Approved by M.D.		
Date: 25 8 20		Date	:	Date:						
Sign:		Sign	:				Sig	n:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contrador sign: 2 N. Krishney